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Note:— Answers may be written either in English or in
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~ throughout the paper.
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( “toTE:— The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Cat. ‘A’). These marks will,
however, be scaled up proportionately in respect
of the students of NCWERB at the time of posting
of awards for compilation of result.
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Attempt all questions. Question No. 1 is for 7 marks and

the rest three (Question Nos. 2, 3 and 4) are for

10 marks each. Use of simple calculator is allowed.
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1. (a) Changes in production caused due to flood are

(b)

©

(d)

called seasonal variations. Comment.

maé‘wmaqﬁqﬁa?h‘raﬁﬁwtrrﬁa’q
Fed ¢ 1 feooft STy i 1

If r=—0:6 and one regression coefficient is
—0-8, find the other regression coefficient.

afg r=—0-6 3 T FWHIAW TUH —0-8 &} @
TE GEIFAY Ui B F@ FGC | 2

If Q;=30 and Q,=50, find the coefficient of
quaftiie deviation.

afz Q1=30 3t Q3=50, @ wqdw Fre Ui
F Fd FET ‘ 7

A batsman Mr. X is more consistent in his last ten
innings as compared to another Mr. Y. There-
fore, Mr. X is also a higher run getter. Comment.

{

(b)
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The deviations from the respective means of X
and Y series are given below:—

X 3l Y H@ar ¥ wEw mw‘rﬁraaa:rﬂ%ﬁm
1 ® §— ‘

-4 (-3 | -2 | -1 0 1 2 3 4

X

v | 3] =3 -4 0 -4 1 Z =2 | -1
Calculate  Karl - Pearson’s  coefficient 6f
correlation from the above data. -
Iwfw Afwel q wel fawA we-ww" Ui @
Ifiged FET 7
: Oor (aigan)

(a)- From the following, regression equations, find X
and-};:

2Y-X—-50=0 and 3Y—2X—-10=0.
ﬁmﬁ«rﬁaﬂwmwﬂvﬁﬁxﬁtYﬁmaﬁm ,
2Y—X-50=0 3t 3Y-2X-10=0. 3
(b) The mean salary paid to 1000 employees of an

establishment was found to be Rs. 180-40. Later
on, after disbursement of salary, it was discovered
that the salary of the two employees was wrongly -
entered as Rs. 297 and Rs. 165. Their correct
salaries were Rs. 197 and Rs. 185. Find the
correct mean salary. ' ;
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qua | S 2010 | W 2010 | S 2014 | WU 2014
" ki H |
A 8 Ll 10 12
B 105 12 12 8
C 5 8 5 | - 10
D 4 14 3 20
E 20 n) 25 6
‘ 7
Or (Hgan) 2
(a) Distinguish between discrete and continuous
variables by giving suitable examples.
fafesh ot sifafe=1 qf@Efdal § oia ITE® SEE
Qe FAEYL i 3
‘(b) From the prices of shares of X and Y given
below, state which share is more stable in value:
3 few mu X sk Y & d90 F FAwd § a9 [
e § FT A R t—
% 155 | 54 | 52| 535658 [52]s0]s1]aa
y |108 | 107 | 105 | 105 | 106 | 107 | 104 103 [ 104 {101

4. (a)

“An average wage carner is better off with an
increase in his pay by Rs. 2000 from the earlier
pay scale of Rs. 3000 as the cost of living index
has increased from 150 to 300.” Comment and
justify your answer.

 gftgq Ased aqﬁfaa?(ﬁmﬁ,aqﬁﬂta:émm

3000 %o ¥, 2000 Fo T IaA ¥ gfg T T FEaT

3 5511

o ey R X g aedars et Y @ gE

3§ s freeht 10 R # sifuw €U 21 €AY

2. (a)

(b)
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If standard deviations of X and Y are 4 and 3
respectively, and coefficient of correlation
between X and Y is 0-8, find the two regression
coefficients. ;

‘aﬁxﬁtY%m-mﬁmﬂﬁU%eﬂt
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Compute the trend values from the following
data by the principle of least squares and depict
the trend line graphically (presume the trend to
be a linear one):

{Year

2008 | 2009 {2010 | 2011 | 2012 | 2013 | 2014

Sales (000 | 780 850 | 950 | 800 | 830 | 1000 | 970
Rupees)
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2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014

780 | 850 | 950 | 800 830 {1000 | 970
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(a)

(b)

Or (31g4n) :
The average monthly income from interest for a
housewife is Rs. 810 and the related median is Rs.
795. Estimate modal interest income.

T TRTEH 9 s @ sitwd wEE @ 810 Fo ¥

st wafuw Hifegd 795 o # | wige = a7 w(
AT AT | : 3

From the data given below find:
(i) The two regression equations

(ii) The coefficient of correlation between the
marks in Economics and Statistics

(iii) The most likely marks in Statistics when
marks in Economics are 30.

Marks in 25128 13513231 |36|29 |38 (34 (32
Economics : :
Marks in 43 146 |49 |41 |36 |32 |31 |30 (33|39
Statistics

9 feu 7u sTfwmEl @ F9 FfET—
(i) @ wmgge gHigol #t
(ii) srdwrE ot wiferw 4 s ¥ 9 we-wdy
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1)

(b)

3

3. (a) State the properties of Karl Pearson’s coefficient

of correlation. :
we fawT & dedsy qUie @ faRwars @
seoiE WS | 3

Find the Fisher’s price index for the year 2014
taking 2010 as the base year from the following
data. Also show that it satisfies the Fime Reversal
Test and Factor Reversal Test.

Commodity| Price in | Quantity | Price in Quantity
2010 in 2010 2014 in 2014

A 8 e 10 12

B 10 12 12 8

C o K 8 3 10

D 4 14 3 ' 20

E 20 ‘ 5 25 S

a9 2014 % AT, 2010 T AUR a6 F w7 § qrEw
frafafes sfwgt & fAR Fiva gewis 39
FEw g & wefifa FAGT % 38 999 favaly
e i R favafy e § a6 saw 2
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